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¢t The dielectric constont of pure walr s 70. ca) Debermine the B rewcter
angle :for Fam”el Eo’arizafion , Fb. | ond the uvrurond"n& analc Of

Lyonsmission . ¢b) A Plam_ ware with Perrendl'ouldk Folay.'zw{:'ow I's
incident f"’"‘ air on  wallh su»jace ok 6:=6s8, . find the
nﬂgv‘éwn ond  transmission weff.‘u’euf.s. (20/-) |
(2) (&) Debermine the mutual l‘nc{udéomce f:e,{weevx a ‘veya lov\J s{;muh‘é
wire oand  a Cowduuiiv\» cirewlar (ooF , a4 showin in F-'d-l.
b) A condwking  civenlay fan oj a YC”LJ:'uA 0.lC(w) &4 situatd
in the ne,ijh.bori\ood of a very lonJ, power lime CArrying 4
{o- (Hz) wrrcw{? , oA shiwn in F.'(rl, with o= 0.15 (m) An
Ac mi”{w\&tn, inserted in the [oOF reads 0.4 (mA ). Assume
Lhe Lotal imreda.m.e oj» the l"F iv\cludu‘na, the millimer
be o.02 (Y, 1 find the muaniﬁ“df of the current n
the powier line. (50(,., ) ‘ .
) Usina» the Frino.‘rle ojl virtua Ju‘srlace,men"é, derive an zcjhzswnjvr
the :fome between two Fm‘n‘& (J\araes R omd - @ separe i

distance X in :('ru spadt. (19% )
%) E,ewi.hms with energn‘m vJ( sev ond 3ev  are ,inc«'dewf on Q
bayrier bev hith ond “5A4 wide, Find thei r mreu{ive Ly answission
Frobabil;frcw, How o thewr a.ﬁfwfu( -f the barrier ¢ doubled
in width? (o) |
(5 How W\av«a F}:o‘bvvxs are rycsm‘lz; in | un’ of radiabion  in ‘H\cr:«p[
q%uj.l\'l)r{um o (200" 7 wkd: is U\e;r a\vcnﬂg e»\ew 7 (20/4)
by Describle the Fn‘nu‘Pch of He )Cor..\afn‘ov\ of eueyda, bands v
thu Szmiundwd@"’)’. C(O%,)

-1

60: 8?51‘10 f/w\
PRTETIAEA

-2}
» = J
K= [.3fx 10 /k |
Me= 9.1 X to'ykJ
h= 6.625 x (o~ ™*"J. sec
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